Blitzmeisterschaft 2015
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3.Runde:

Rang| TNr | Teilnehmer
1. 1. | Martin, Dennis
2. 2. | Heinig, Matthias
3. 3. | Lebiedz, Oliver
4. 4. | Rohde, Kurt
5. 5. | Burde, René
6. 6. | Krautwasser, Stefan
7. 7. | Block, Werner
8. 8. | Borchardt, Winfried
8. 9. | Voigt, Josua
10. | 10. | Raabe, Dr. Hans-M
11. | 11. | Jetten, Ralf
12. | 12. | Pillmann, Gerhard
4.Runde:
Rang| TNr| Teilnehmer
1. 1. | Martin, Dennis
2. 2. | Heinig, Matthias
3. 3. | Krautwasser, Stefan
4. 4. | Block, Werner
5. 5. | latsenko, Anna
6. 6. | Voigt, Josua
6. 7. | Lebiedz, Oliver
8. 8. | Raabe, Dr. Hans-M
9. 9. | Pillmann, Gerhard
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Rang| TNr | Teilnehmer
1. 1. | Martin, Dennis
2. 2. | Heinig, Matthias
3. 3. | Block, Werner
3. 4. | Lebiedz, Oliver
5. 5. | Krautwasser, Stefan
6. 6. | Borchardt, Winfried
6. 7. | Raabe, Dr. Hans-M
8. 8. | Voigt, Josua
8. 9. | Pillmann, Gerhard
10. | 10. | Krieger, Heinrich
11. | 11. | Jades, Enno
Platz | Name: 1BR.. |2.BR.. |3.BR.: |4BR.. |5BR.. |Ges.
1 Heinig 12 12 10 10 10 44
2 Martin 12 12 12 36
3 |Krautwasser 9 9 5 8 6 32
4  |Block 9 7 4 7 75 | 305
5 |Lebiedz 9 8 4,5 7,5 29
6 Voigt V4 2,5 2,5 45 2,5 16,5
7 |Raabe 4,5 1 3 4,5 13
8 |Borchardt 45 25 45 | 115
9 Rohde 7 7
9 Pillmann 25 0 2 25 7
11 |latsenko 6 6
11 | Vlassenko 6 (5]
11 | Gorbatschow 6 6
11 |Burde 6 6
15 |Krieger 1 1
16 |Jetten 0 0
16 |Jades 0 0

1=12RLP, 2=10, 3=8, 4=7, 5=6, 6=5, 7=4, 8=3, 9=2, 10=1 ab11=0 bei Punktgleichheit: RL P geteilt.
ROTE Markierung = Streichrunde (5 Runde darf nicht gestrichen werden) FETT = Rundensieger
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